


‘s Standa r

MGSE9-12.F.IF.1. Understand that a function from one set
(called the domain) assigns to each element of the range. If fis
a function and x is an element of its domain, then f(x) denotes
the output of f corresponding to the input x. The graph of f is
the graph of the equation y = f(x). (Draw examples from linear
and exponential functions.)

MGSE9-12.F.IF.2. Use function notation, evaluate functions for
inputs in their domains, and interpret statements that use

function notation in terms of a context. (Draw examples from
Wnd exponential functions.)




Age (yrs.)
Height (in.)




| Age (yrs.)
Height (in.)

h(11)=62  This means that when Fiona was 11 years old she was 62" tall.

h(8) =53 This means that Fiona was 53" tall when she was 8 years old.




This means that 70 T-shirts will cost $680.

C(100) = 9(100) + 50
C(100) = 950 This means that 100 t-shirts will cost $950.

This means that 115 shirts were ordered for a total of $1085.

This means that 168 shirts were ordered for a total of $1562.










Use the table below to answer the following.

x |2 |4 |6 [8 [10[12[1a
fx]3 [6 |9 [12 [1s 1821

Ex7) f(4) =

Ex10) Kx) =12







Use the table to answer questions 1 - 6.

X

1

2

12

17

20

1 f2)=_ 20
3) f(s) = 34‘
5.4 )-20




Use the following scenario for questions 7 — 10.
SGA is selling travel mugs to raise money for Prom. The senior representatives figure they will sell at least 200
but no more than 600 travel mugs. Cherokee Embroidery has provided the cost for that range. They are

charging a onetime fee of $25 for the logo imprint and $5 | Use C(x) = 5x 425 for the cost
function. e DCHE‘%)M)E-T lg 825:34—2‘5‘
7) What is the value of C(250)? What does this mean? ~ l260+26 =¢ 12 75

8) What is C(400)? What does this mean? C(@) ™ S(%) 125:
2000+25=§2025
:g):;;'e Prolm Dco?m‘gil;ee ‘gai I:II:ieZd %total of ;1:852'.1 m‘\a’l‘w ut%vesl mugs were ordered if this was the total
1 DbD= 5y

10) The Prom committee was billed a total of $2775. How many travel mugs were ordered if this was the
total cost?



Use the graph to answer questions 11 - 14.

waa- O 1210 )=

1) == 2. 1) - 3










